ASC Homework Assignment

             (REFERENCE: Associative Computing Slide Sets)
1. Provide a partial trace the ASC Minimal Spanning Tree Algorithm (not the ASC program) given in the slides for Associative Computing, Part 1. This trace should show the value of each of the parallel and scalar values in the data structure used at the end of each of the first three passes through the loop (see Fig 6 on slide). Note: As a check, you should obtain the values in the data structure in my slides at the end of one of the three passes through the loop. 
